
RECLAIMED RAILROAD TIES MIRROR

A S S EM B LY & I N STA L L AT I O N I N ST R U C T I O N S

E N G L I S H



R EC L A I M ED R A I L R OA D T I ES M I R R O R  E N G L I S H

RH.COMREVISION 07-07-22

RECLAIMED RAILROAD TIES MIRROR

PARTS INCLUDED

(A)	 RAILROAD MIRROR (1)

(B)	 HANGMAN (FOR WALL) (1)

(1)	 Toggle Anchors (2)

(2)	 Toggle Screws (2)

(3)	 Stud Mounting Screws (12)

(4)	 Toggle EZ Mini Anchor (2)

(5)	 Toggle EZ Screw (2)

(6)	 Bubble Level (1)

TOOLS

Electronic stud finder

#2 Phillips screwdriver

Drill with #2 Phillips bit

Pencil

IMPORTANT PLEASE READ

PROFESSIONAL INSTALLATION RECOMMEND 

SAFETY INSRUCTIONS

This hanging system is meant for drywall stud mounting only. If walls 
are concrete, brick or plaster, please consult your local hardware 
store for assistance. For safety and ease of mounting, two people are 
recommended for installation.

MOUNTING INSTRUCTIONS

1.	� Determine the desired placement on the wall for the wall panel 
(frame can be hang horizontally as well as vertically). Within 
the desired mounting location, locate the wall studs using the 
electronic stud finder and mark stud locations using the pencil.  
(Note: I t is best to mount the bracket to at least one stud, using the 
illustrative graph shown above for reference.)

2.	� Determine which wall-mount bracket hole or holes on the wall will 
be centered on the stud. The hole positions that are centered over 
studs will use the Stud Mounting Screws for mounting the bracket.

3.	� Insert the included Bubble Level into the Bubble Level track, as 
close to the center of the wall-mount bracket as possible.

4.	� Place the wall-mount bracket at the desired location on the wall 
and confirm that the bracket is level.

5.	� Using the pencil, mark the mounting screw hole locations on the 
wall.

6.	� Remove the wall-mount bracket and set aside.

STUD MOUNTING

1.	� Install the wall-mount bracket onto the wall using the Stud 
Mounting Screw at one of the stud locations first, using the #2 
Phillips screwdriver or the drill with a #2 Phillips bit.

2.	� Insert the first Stud Mounting Screw through the hole in the 
wall‑mount bracket and tighten clockwise. Leave the Stud 
Mounting Screw slightly loose so that the wall-mount bracket 
can still be rotated and the wall-mount bracket area on the wall is 
exposed for installing the drywall toggle anchor(s).

DRY WALL MOUNTING

1.	� Use the #2 Phillips screwdriver to install the toggle anchor(s).

HANGING THE PRODUCT

1.	� On the back of the wall panel is an affixed product-mounting 
bracket.

2.	� Carefully position the product-mounting bracket over the 
wall‑mount bracket, ensuring that the two brackets are aligned.

3.	� Press down firmly to engage the two brackets.

4.	� Your product is ready for use.

Toggle ToggleStud EZminiEZmini

(2)

(1 )

(3)

(4)

(6)

(5)



R EC L A I M ED R A I L R OA D T I ES M I R R O R  E N G L I S H

RH.COMREVISION 07-07-22

ANTI-TIP ASSEMBLY INSTRUCTIONS

PARTS INCLUDED

A complete kit contains 1 sets of the following

(1)	� Screw-0.75" (2 cm) (2)

(2)	� Screw-1.5" (4 cm) (2)

(3)	� Steel cable (1)

(4)	� Steel Brackets (2)

(5)	� Mini Anchors (2)

WARNING

Serious or fatal crushing injuries can occur from furniture tip-over. 
To help prevent tip-over:

•	� Place heaviest item in the lowest drawers.

•	� Do not set Tvs or other heavy objects on the top of this product.

•	� Never allow children to climb or hang drawers, doors, or shelves.

•	� Never open more than one drawer at a time.

Use of tip-over restraints may only reduce, but not eliminate, the risk of 
tip-over.

ASSEMBLY INSTRUCTIONS

Professional installation recommended.

1.	� Tighten the metal bracket on to the wall and furniture piece with the 
help of the screw given. For dry wall Fixing, mini anchors are to be 
used along with the screws.

2.	� Tighten the steel cable (3) on to the brackets (4) on the wall and on 
the product as shown below.

3.	� Tighten the cord grip as required and adjust the spacing with the 
wall accordingly.

(2)

(1 )

(3)

(4)

(5)

2

1

3

4


